PaxBac Hardware

Quantity Per

Item
Number | Note | Part Number |Description Package | Assembly

1 1064044-NLA | NLA - Retainer 1 1

2 1064045-NLA | NLA - Kit, Strap with Hardware, Small 1 1
(Includes: (4) Screw, Button Head Socket #8-32 x
3/4")

2 1064046-NLA | NLA - Kit, Strap with Hardware, Medium 1 1
(Includes: (4) Screw, Button Head Socket #8-32 x
3/4")

2 1064047-NLA | NLA - Kit, Strap with Hardware, Large 1 1
(Includes: (4) Screw, Button Head Socket #8-32 x
3/4")

3 A 1087729 Kit, Lock Block and Screws 1 2

NOTE: A -Includes the Lock Block and (2) Screws, Button Head Socket #8-32 x 3/4")




